i lRABRFRRAR

novotechnik

Siedle Group
TH1 R5I%& Ak
IEESR Z-TH1-P18, F=RHS: 005697
BEEAT THI/TIM RIER-S
Mo PA6-GF25
i S 12g
AR -40 ... +100°C
E LB RREWE) 40 N/mme
IE 5 ST A ek Fu VAL 1 Nm
FRREER Z-TH1-P19, F=@R4%S: 005698
8 BEERATF THI/TIM RIERF
= [ PA6-GF25
1 T }\ O 149
: . m/ \m ol s AR IE -40 ... +100°C
% Q‘y\ j&y/ E RS 40 N/mm?
7 1] 5 R ET Iy d5e R SLVF HLAE 1Nm
% \L\'D’ B
22:_
IEESR Z-TIM-P20, P=S48S: 005699
a0 B174 BEFEAT THI/TIM RIER-S
MR PA-Neonbond Compound
§ S 59
AR -40 ... +100°C
e R ) 10 N/mm?
BRI BT R R,
P135
RIFRER (F18) Z-TH1-P21, F=R%S: 056044
P41 FEEAT THI/TIM RIIfERES
?18 Moo 1.4404
O 20 g
| | AR -40 ... +100°C
: : /ISR < 8 bar
D: E Q % E 740 kg/m?
: : BORIRIE 26.6 mm
| |

TEL : 400-900-8812 3BT : 18017400327

wWww.jjx88.com

luck@jjx88.com



L8 IRABFEIRAE novotechnik

@14

@51

53

R TP SRR, A
B INAT R, LAB Rk
% (LZER) BRI REH
T 1 NI S 4 I I £
B (LT Em) .

Siedle Group

TH1 R5I & Ak
& EH

BFXER (BB ) Z-TH1-P22, @M% S: 056045

BREMEAT THUTIM RIERSF

# B 1.4571
R #3429
AR -40 ... +100°C
TR/ ER < 60 bar

% % 720 kg/m?
RIRERE 36.7 mm

29,56

LRI 1SO 8675
M18x1.5-A2
PR . 056090
w5 Z-TH1-MO1

L4252 DIN 934
3/4 “ - 16UNF-A2
FEh AT 056091
® 5. Z-TH1-M02

TEL : 400-900-8812 4BT : 18017400327

www.jjx88.com  luck@jjx88.com



LB lRARFRREAR

BLE M12 R

G145
M2x1
E—~

(X34

608

0145

Mizx1 B15

ww gl Ms

TEL : 400-900-8812 4BT : 18017400327

novotechnik

Siedle Group

$HHIE X 1=pHf 8§t M12x1 ME#kL, AE, P67
5 2= fEfa HHEEBY, NERK, SRR
4 ¢ S-e ShFEHE PA MR
O 4=
o ~0 5- % MM PUR, O=Max.8mm
30 ©0)7 s wam -25°C ... +80°C (AR )
o_0O 7 -50°C ... +80°C ([H sk 4%)
2 g 1 8= % % PP, 0.25mm?
AR W TR
@ ( 2m EEM 33-86 005629
5m EEM33-90 005635
10m EEM33-92 005637
$HRIE X 1=Hf 8§t M12x1 MET#Esk, AR, P67
5 2 = kifn HREBY, TRk, ZiHnRE
4 6 3=t = y
TP P ShAEMIR PA BFL
00 o 5= Jkf WL LR PUR, @=Max.8mm
3 6. 0 7 e-mts -25°C ... +80°C(FER R %)
5 f 7=kt -50°C ... +80°C ([ sk %)
8 8= 5 4% PP, 0.25mm2
A JU. e R
8 2m EEM 33-87 005630
P67 @ 5m EEM33-91 005636
10m EEM33-93 005638

SHRIE X 1= Dt
2 =41 (0.34mm?)
3= (0.34mm?)
3 4 4 =1 (0.25mm?)
o o o 5= 1 (0.25mm?)
o o
2 1

5% M12x1 ME#L, AE, P67
HEGRMEY, %inR%E, CAN-bus

shaetii PUR

) o) B D

Ak PUR @ = max. 7.2mm
-25°C ... +85°C (EIEsE ik 3s)
S5 % PP 2x 0.25mm?
+ 2 x 0.34mm?
waiKkE B 5 TGS
2m EEM 33-41 056141
5m EEM 33-42 056142
10m EEM 33-43 056143

SHRAIRE X

3 4

5
e ) o) )

wWww.jjx88.com

&% 5§ M12x1 ME#EL, AZE, P68
HEEREHEY, CAN-bus

Hhsert R PUR

ALk PUR; @ 7.2mm
-25°C ... +85°C (IR 4%)

mgiRkE B 5 e R
EEM 33-44 056144

luck@jjx88.com



F8iIRABFBRAE novoiechnik

Siedle Group
BLE M12 &5k
$HRIZE X TEEL, 55 M12x1, AZL, IP68
& 1:1 #E#, M- 0 - M4, CAN-bus
10 Buthsenginsutz M2 A —
W T3mm Female insert M12 A5t IR PUR
Wi (T E : R 25°C ... +85°C
@ S | Ix Stifteinsatz M12 W = nms
- Ix Buchseneinsatz M12 n
& gL ' = hprell,  EEM345  0solss
off}
129 04 .
9145 $HHIE X 5§t M12x1 W& 120Q &immFE, AR
1= AREXL IP67, CAN-bus
M2x1 3 4 2 - RN
i O O 3= KEX AhsE IR PUR
o _ ; oo N
o o - j%‘?g I 25°C ... +85°C
2 1 bV TR
ES ‘ 5 EEM 33-47 056147
2 == ‘v CANopen
N
0145
$HHIE X 5%t M12x1 ME#L, AE, IP67
020 3 4 FEEIZIRIEL, B,
5 o # BN CAN-bus
T o ShEEHIE SR
| | \O| O
b QI o o 0T 180
A 2 1 B AW 6..81m

max. 0.75mm?

w5 I G

Sl

SHHIE X 5%t M12x1 MT#EL, AR, IP67
FEEZIZIFIRL, HHER,
3 4 # M CAN-bus
o O SR &l
o O o -40°C ... +85°C
1% 2k Ui 6...8mm
2 1 max. 0.756mm?2

w5 PG

5
|IP67| H_‘_H,)) |‘[¢nuopen| EEM33-75 005646
SOV RIGERAHKEE

TEL : 400-900-8812 4B : 18017400327 www.jjx88.com luck@jjx88.com



LS TR FERAS

BLE M12 Rk

0145
M2x1
.

312

608

0145

275

20

S0
T

LXTIW
gl Mg

'8¢

|
|
48

I
J

=)
09=

oL=

TEL : 400-900-8812 4fT : 18017400327

50€

ok=

PG 9
17

novotechnik

Siedle Group

SHIE X 4$tm12x1 MEH#L, AZL, IP67
;:Eg wuan, FERME, SHEE
3 4 3= fifs Sh5ert R PARD R}
4= B HLZ RS PUR; © = max. 6mm
-40°C ... +85°C (Il sk )
o O % % PP, 0.34mm?
2 1 WA 5 ek
2m EEM33-35 056135
3 5m EEM 33-36 056136
@ 10m EEM 33-37 056137
SR 45tM12x1 ML, AR, P67
1= ko HHREBY, NERR, KiHRE
3 4 §= Eg HhSE IR PASR
- 4 N =
o O 4-mp L Pk +s?fox'(|6argﬁ§>
O O F % PP, 0.34mm2
2 1 AR E ped ek
2m EEM33-38 056138
5m EEM33-39 056139
@ 10m EEM 33-40 056140
$HRIE X 45tM12x1 ME#EESL, AR, TREREE
By s, IP67, R Rk
3 4 Ahset iR PBT %kt
o O 25°C ... +90°C
Z .. omm
© o L ?ﬁkSOJSmm?
2 1 w8 S
. EEM 33-88 005633
$HIE X 45tM12x1 METHESL, AR, HEREREE
BT iR, IP67, i Bk
3 4 IR PETHH
O -25°C ... +90°C
% & U 6...8mm
o #% K 0.75mm?
1 Mo el
EEM 33-89 005634

www.jjx88.com

luck@jjx88.com



g IRABFEIRAE novotechnik

Siedle Group
BLE M16 R 5%k
0185 1=H 6 51 M16x0.75 ME#E L, 1P67
' 2 = fEfa HHEARREY, K2m, ZHEE
3=t 5
imp AhFe R PUR
2 5= Ik AT PUR; @ max. 6mm
. 6= 4t -5°C ... +70°C(FERHEIRZ)
| -20°C ... +70°C (FlsEkE)
=2 QLM PVC, 6x0.25mm?
= w5 TGS
EEM 33-26 056126
‘ C IS B M16 fi e, EHU 6/ SREas,
1= 6§t M16x0.75 MZ sk, WEERY,
2 = kife K2m, Hhi, IP67, LihiRE
3= it -
im Shse#t PUR
5= KAn WK PUR; @ max. 6mm
6= 4 fn -5°C ... +70°C (ke A)
-20°C ... +70°C (Il k)
LR PVC, 6 x 0.25mm?
oS5 RS
EEM 33-27 056127
ALHAECS £ M16 B3k, BHI6/ SRR,
2185 $HIE X 6§ M16x0.75 M E#k, HRERKIZE,
1R iERE, P68, WK
M16x0,75
AhFet R Cuzn
(W, PER)
. -40°C ... +85°C
Fodea] 4...8mm
max. 0.75mm?2
“é - e e
E EEM 33-82 005639
=

6%t M16x0.75 M Tk, WELERFIEE,
1BLLERE, P67, WRH

Shset R Cuzn
(T, 9B
-40°C ... +95°C
kI 6..8mm, PG9
max. 0.75mm?
5 TGS
EEM 33-94 005648

TEL : 400-900-8812 4BT : 18017400327 www.jjx88.com luck@jjx88.com



e IRIBFaREAE novotechnik

Siedle Group

BLE M16 Rk

8%t M16x0.75 ME#k, FRERLEE,
1R iERE, P68, WEHK

©18.5

M16x0,75

HhsE R CuzZn
(95, PER)
. “40°C ... +85°C
% 2k U 4...8mm
m max. 0.75mm?
o
B e R
i EEM 33-84 005627
=

8%t M16x0.75 MT#Ek, WRERKIZE,

374 BELER, P67, HHkK

Shsert R CuzZn
(fl, PEER)
-40°C ... +95°C
= & 6..8mm, PG9
Z max. 0.75mm?
S
> w5 e A
EEM 33-85 005628

EtriEE
Pl 542 1P67 (T0) OB I L R Y B (EMC) A AT, AR
IP67| %4 DINEN 60529 ki H.H.,.))) FH S c
A
B4 P68 () REFRIBNGG . @H.
IP68| ## DINEN 60529 #7ift \‘)
N
CAN-bus () il UL AGE
pelig uL
L )

R B S IEM 23 SRR Y G 0L T )7 REPRIE TR B P25 9. B 25 O IR L SRR R R R A 50

© 02/2016

A,
A BATEAL,

TEL : 400-900-8812 4B : 18017400327 www.jjx88.com luck@jjx88.com



